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TH Ne21 ot
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TEP-01-02-112-02
MOC81-35.2004
n.4.7 Ko3n=1,15
Kam=1,25
(Pen.2009 1)

TEP-01-02-119-01
MIC81-35.2004
n.4.7 Ko3n=1,15
Kam=1,25
(Pep.2009 M11)

TEP-01-02-120-02
M[C81-35.2004
n.4.7 Koan=1,15
Kam=1,25
(Pen.2009 K1)

TEP-01-01-013-07
M[C81-35.2004
n.4.7 Kosn=1,15
Kam=1,25
(Pen.2009 A1)

CMr-23rKc-10-1

TEP-01-01-033-05
M[C81-35.2004
n.4.7 Koan=1,15
Kam=1,25
(Pea.2009 M1)

MHL cdnaHyesoe coeguHeHne
110*100m
LEHA=1694,92*1,042
Kmar=1,042 (Monpaska Ha
OnoHeukuit paitoH)

naxey Jy 100
LIEHA=728,81*1,042
Kmat=1,042 (Monpaska Ha
OnoHeuKuit paitoH)

CPESKA KYCTAPHUKA
MENKONECbHSA B FPYHTAX
ECTECTBEHHOIO
SANEFAHUA KYCTOPE3AMU
HA TPAKTOPE MOLLHOCTbIO
79 KBT (108 J1.C.), KYCTAPHUK
W MENKONECBE CPEHUE
Koan=13,49 KmaT=0 Kam=8,17
(1478)Kmar=1,042 (Monpaska Ha
OnoHeukui paitoH)

HP=71% (HP = 109 py6.)
CN=31% (CN = 47 py6.)

PACYUCTKA NNOLWAOEN OT
KYCTAPHUKA 1 MENKOJIECHA
BPYYHYIO MPW PELKOMN
nopocnn

Koan=13,49 Kmat=0 Kam=0
(1527)Kmar=1,042 (Monpaska Ha
OnoHeLkuii paitoH)

HP=71% (HP = 8791 py6.)
CM=31% (CI = 3838 py6.)

CXUrAHUE C
MEPETPAXMBAHVEM BAJIOB
M3 KYCTAPHUKOB,
MENKONIEChA U KOPHEWN
KOPYEBATENAMU-
COBUPATENAMU HA
TPAKTOPE MOLLHOCTbIO 59
KBT (80 J1.C.), KYCTAPHUK A
MENKONECBE CPEOHME
Ko3n=13,49 Kmat=7,29 Kam=6,57
(1531)Kmar=1,042 (Monpaska Ha
OrnoHeLKuit paitoH)

HP=71% (HP = 1069 py6.)
CM=31% (CIM = 467 py6.)

PA3PABOTKA IPYHTA C
MOrPY3KOM HA
ABTOMOBUNN-CAMOCBAIbI
OKCKABATOPAMU C KOBLLOM
BMECTUMOCTbIO 0,65 (0,5-1)
M3, FPYMMA MrPYHTOB 1
Koan=13,49 Kmat=5,5 Kam=7
(183)Kmar=1,042 (Monpaska Ha
OroHeLKuii paiioH)

HP=85% (HP = 1706 py6.)
ClM=34% (CI = 682 py6.)

MEPEBOS3KA 10 10 KM
rPY30B ABTOMOBUIAMU-
CAMOCBANTIAMU
(PABOTAIOWMMW BHE
KAPBEPOB) - FPY3 1 KNACCA
LIEHA=19,54*5,22

Kn3=5,22 (2649)

O6vem: 230 * 1.5

3ACIMKA TPAHLLEN 1
KOTNOBAHOB C
NEPEMELEHMEM rPYHTA O
5 M BYNIbAO3EPAMW
MOLHOCTbIO 79 KBT (108
N.C.), TPYMNMA MPYHTOB 2
Kosn=13,49 KmaT=0 Kam=8,24
(406)Kmat=1,042 (Monpaska Ha
OnoHeukuit panoH)

HP=85% (HP = 1616 py6.)
CM=34% (CM = 646 py6.)
Obvem: 1746 - 170

1
wT

wT

0,255
rA

25,5
100M2

0,255
rA

0,23

1000M3
FPYHTA

345

1,576

1000M3
FPYHTA

1766,11

759,42

2795,06

485,57
485,57

9370,41
5523,58

38116,84
1334,63

102

5442 42

2795,06
600,14

1701,06
380,92

36758,14
7391,85

544242
1206,01

1766

1519

713

12382 12382

2389 1408

8767 307

35190

8577

713
153

434
97

8454
1700

8577
1901

2,6

43,01
2,36

10,67
33,64

5,23

0,66

90,61

10,97
0,6

2,45
7,74

8,23

2Crp.4



